
 

72 + 8 = 80 

8

80
 ∙

100

1
=

800

80
= 10% 

 

1 + 3 = 4 

1

4
  ∙  

100

1
=

100

4
 

100 : 4 = 25% 

 

ա) − 2
3

7
 + (−3

1

7
) = −

17

7
+ (−

22

7
) =  

(−17) + (−22)

7
= −

39

7
 

բ) − 4
2

5
− (−1

3

5
) = −

22

5
 − (−

8

5
) =

(−22) − (−8)

5
= −

14

5
 

գ) 8
5

6
+ (−11

1

6
) =

53

6
 + (−

67

6
) = −

14

6
= −

7

3
 

դ) 3
8

9
− (−4

7

9
) =

35

9
− (−

43

9
) = +

78

9
 

ե) − 7
5

8
+ 9

7

8
= −

61

8
+

79

8
=

(−61) + (−79)

8
=  +

18

8
= +

9

4
 

զ) − 5
3

4
− 6

1

4
=

23

4
+

25

4
=

(−23) + (25)

4
= −

48

4
= −

12

1
= 12  

 

6+6=12սմ 



 

90 ∙ 5 : 2 = 225 էջ 

 

 

1000 ։ 100 = 10 

10 ∙ 115 = 1150 


